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f#MT: {E%ET% ABCD %, /PBA+./PBC=./ABC=90°, ‘. /PBC=./PAB, .. /PBA+
ZPAB = 90°, .. ZAPB=180°-90°=90°, .. /i P /ELL AB NEZ, MK
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(D i, 5 C1E BD Lk, =2 BD WKL T 4 E, N LE=90°,
“*BD1 AB, CELBD, ..AB//CE, ZABD=90°, ../\ABD<>/\CED,
'.A_Dzﬁzyzi, .'.@zi, ..,BE:ZBD,

CD CE DE 3 BE 7
" /ABC=150°, .. ZEBC =150°-90°=60°, .’.g—g—cos60°
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()t (1) AP _AB_BD & .. gy, cCE=3,
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i (1) 3 /CBE=60°, .'.BE=gCE=x/§, BD=§BE=4\7/§,
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15. ff: CIERITSE (=3, 2) , SATREEEER N y=a(x+3)+2,
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WL S (4, =5) , S -5=a(4+3) +2, a=—2,

AN I R R e A =—%(x+3)2 2. (840

16. fi#t: EHOC, HAMRERS AB=V6>+8" =10,
O R AB I A, .'.OC=OA=OB=%AB=5. (349
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(2) 5.0, 4, CHFHEHANELECBN.. N EEOBS, OB=5, AB=10, CB=8,
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18. fi#: B A0, - CD L, €39 4B s, 0 42
~CDLAB, - AB=18, C N ABIHH 5, 3
~AC=BC=9. :

WRFER N x K, WMo4=0D=x, ~CD=27, ~.OC=27-x,
ERIAAOC F1, AC*+0C* =04%, ~9*+Q7-x)=x*, ~x=15,
2 HETATE R R R 15 oK. (843)
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19. fi#: K ABAZ CE T E, I8 D 55lE DG LAE T 5 G, {E DFLEC TR F,
ML DFEG 75, ~.DG=EF, DF=EG.
7 RtABCE "1, *. tan30°= gg , . CE =@:100\/§ .
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7E RACDF 1, "2 DF:CF=1:2J3, .. DF*+(23DF)* =(10J13)?,
S.DF=10, CF=20/3, ..DG=EF=1203, EG=DF=10.
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20. fiE:
(1) A AE AML x 3T 5 M, 35 BAE BNL x T /&5 N,
S ZAMO = ZONB =90°,

£ Rt AAMO W1, OM=4, AO=5, S AM=3, J. i A HFEH (4, 3), Sk, =-12.
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(2) & OfE OF LBC T F, Wil OECF &, ..OE=CF=2,
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(1) fFRtAABH 1, --sin ZBAH = Tk ~.BH =csin ZBAH ,

B]g ’ .'.BHZCZSiIlC,

fERtABCH #, - sinC =
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"sin/BAH sinC ’
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sinC  sin ZABD sin /BAC  sinZABC sinC

(2) HE=ERG, BC=60><%:3O (H) , ZABC =90°-76°+ 90°—32°=72°,

- ZACB=62°, . ZA=180°—62°—72°=46°,
AB BC  _AB _ BC ., 30x0388

=367 GEHE) ,

" sinZACB sind = sin62° sin46°
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(1) ADCE "] VAHADBA %855 D 5L J7 ek 60° 452, (14
. %A ABCDY, DC=DB, /DBC =./DCB=/BDC =60°,
S ZACB+ ZDCE =180°-60°=120°,
" ZBAC =120°, .. ZACB+ £ABC =180°—-120°=60°,
S ZACB+ ZABC + ZDBC =60° +60° =120° ,
Bl £Z4CB+ 2DBA=120°, .. /DCE=./DBA,
' CE=BA, CD=BD, .. ADCE</\DBA, .../EDC=./ADB,
" ZADB+ ZADC =60°, .. ZEDC + ZADC =60°, R ZADE =60°,
S ADCE v LLHH ADBA %8 5. D B 77 e 60° 15 3 (CHAh & 32 = 7)),
(541)
(2) Ol (1) BADCEL/ADBA, ..DE=DA, /ADE =60°,
S AADE REh =, .. ZDCF=/DAE=60°. (94})
@' CE=BA, ..AE=AC+CE=AC+BA=8,
HOM £ DAC= 2 FCD,

" /CDF=/A4DC, ..ADCF<~/ADAC,
S ABCD WK N 6, S.DC=6,
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, ~DF=4.5, . AF=AD-DF =8-45=35. (144})
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